

Generalizations of Some Classical Inequalities via a Special Functional Property

Mohammad Masjed-Jamei¹, Feng Qi² and H. M. Srivastava^{3,*}

¹Department of Applied Mathematics

K. N. Toosi University of Technology

P. O. Box 1618, Tehran 16315-1618, Iran

E-Mail: mmjamei@aut.ac.ir mmjamei@yahoo.com

²Research Institute of Mathematical Inequality Theory

Henan Polytechnic University

Jiaozuo City 454010, Henan Province, People's Republic of China

E-Mail: qifeng618@gmail.com qifeng618@hotmail.com

qifeng618@qq.com

³Department of Mathematics and Statistics, University of Victoria

Victoria, British Columbia V8W 3R4, Canada

E-Mail: harimsri@math.uvic.ca

***Corresponding Author**

Abstract

In this paper, by using a special functional property, we generalize some well-known inequalities such as Cauchy-Schwarz's, Cauchy-Buniakowski's, Čebyšev's, Steffensen's and Aczél's inequalities. We also present some interesting corollaries and consequences of the general results derived here.

2000 Mathematics Subject Classification. Primary 26D15, 26D20.

Key Words and Phrases. Aczél's inequality; Cauchy-Schwarz's inequality; Cauchy-Buniakowski's inequality; Čebyšev's integral inequality; Steffensen's integral inequality; Generalizations; Corollaries and consequences; Linear functionals.

1. INTRODUCTION

It is well-known that the Cauchy-Schwarz's, Cauchy-Buniakowski's, Čebyšev's, Steffensen's and Aczél's inequalities for integrals and sums are classical and basic in mathematics and have been refined, generalized and applied by a remarkably large number of researchers for different and various motivations. For a detailed information, the interested reader may refer to relevant chapters in [5, 7, 8, 9, 12] and to numerous related references which are cited therein.

The aim of this paper is to generalize each of the above-mentioned inequalities by a specific functional approach. As we will show, this approach

may be frequently used and applied to generalize many other inequalities as well. For this purpose, we let \mathfrak{S} denote a linear functional mapping onto the function $f(x)$ and then consider the following special function:

$$F(x; f, \lambda) := f(x) + \lambda \mathfrak{S}(f(x)) \quad (\lambda \in \mathbb{R} \setminus \{0\}). \quad (1.1)$$

One of the important properties of the function $F(x; f, \lambda)$ defined by (1.1) is that

$$\begin{aligned} \mathfrak{S}(F) &= \mathfrak{S}(f + \lambda \mathfrak{S}(f)) = \mathfrak{S}(f) + \lambda \mathfrak{S}(f) \mathfrak{S}(1) \\ &= (1 + \lambda \mathfrak{S}(1)) \mathfrak{S}(f) = K \mathfrak{S}(f) \quad (K := 1 + \lambda \mathfrak{S}(1)). \end{aligned} \quad (1.2)$$

By using the general property (1.2), we show that each of the above-mentioned inequalities can be generalized fairly easily. We note that the property (1.2) provides a general approach which can be applied in cases of many other inequalities as well. Furthermore, the property (1.2) could only be applied for one time, that is, we cannot apply the property (1.2) for more than one time in order to generalize the above-mentioned inequalities again, because we have

$$\begin{aligned} \mathfrak{S}(\mathfrak{S}(F)) &= \mathfrak{S}(K \mathfrak{S}(f)) = K \mathfrak{S}(f) \mathfrak{S}(1) = K^* \mathfrak{S}(f) \\ (K^* &:= K \mathfrak{S}(1); \quad K := 1 + \lambda \mathfrak{S}(1)). \end{aligned} \quad (1.3)$$

2. A GENERALIZATION OF CAUCHY-SCHWARZ'S INEQUALITY

It is common knowledge that Cauchy-Schwarz's inequality has a long history spanning over 187 years ever since it appeared in [3]. It may be stated as follows:

If $\{F_k\}_{k=1}^n$ ($n \in \mathbb{N}$) and $\{G_k\}_{k=1}^n$ ($n \in \mathbb{N}$) are two sequences of real numbers, then

$$\left(\sum_{k=1}^n F_k G_k \right)^2 \leq \left(\sum_{k=1}^n F_k^2 \right) \left(\sum_{k=1}^n G_k^2 \right). \quad (2.1)$$

As we observed above, the linear functional applied in (2.1) is

$$\mathfrak{S}(\cdot) = \sum(\cdot).$$

So, by noting (1.1), if we set

$$F_k = a_k - \frac{p}{n} \sum_{k=1}^n a_k, \quad \text{and} \quad G_k = b_k - \frac{q}{n} \sum_{k=1}^n b_k, \quad (2.2)$$

then we obtain

$$\mathfrak{S}(F_k) = \sum_{k=1}^n \left(a_k - \frac{p}{n} \sum_{k=1}^n a_k \right) = \sum_{k=1}^n a_k - \frac{p}{n} \left(\sum_{k=1}^n a_k \right) \left(\sum_{k=1}^n 1 \right)$$

$$= (1-p) \sum_{k=1}^n a_k = (1-p) \mathfrak{S}(a_k), \quad (2.3)$$

$$\begin{aligned} \mathfrak{S}(F_k^2) &= \sum_{k=1}^n F_k^2 = \sum_{k=1}^n \left[a_k^2 + \frac{p^2}{n^2} \left(\sum_{k=1}^n a_k \right)^2 - \frac{2p}{n} a_k \sum_{k=1}^n a_k \right] \\ &= \sum_{k=1}^n a_k^2 - \frac{p(p-2)}{n} \left(\sum_{k=1}^n a_k \right)^2 \geq 0, \end{aligned} \quad (2.4)$$

$$\mathfrak{S}(G_k^2) = \sum_{k=1}^n G_k^2 = \sum_{k=1}^n b_k^2 + \frac{q(q-2)}{n} \left(\sum_{k=1}^n b_k \right)^2 \geq 0, \quad (2.5)$$

and

$$\begin{aligned} \mathfrak{S}(F_k G_k) &= \sum_{k=1}^n F_k G_k = \sum_{k=1}^n \left[\left(a_k - \frac{p}{n} \sum_{k=1}^n a_k \right) \left(b_k - \frac{q}{n} \sum_{k=1}^n b_k \right) \right] \\ &= \sum_{k=1}^n a_k b_k + \frac{pq - (p+q)}{n} \left(\sum_{k=1}^n a_k \right) \left(\sum_{k=1}^n b_k \right), \end{aligned} \quad (2.6)$$

respectively. By substituting these equations into the inequality (2.1), we are led readily to the following theorem.

Theorem 1. *If $\{a_k\}_{k=1}^n$ and $\{b_k\}_{k=1}^n$ for $n \in \mathbb{N}$ are two sequences of real numbers and $p, q \in \mathbb{R}$, then*

$$\begin{aligned} &\left[\sum_{k=1}^n a_k b_k + \frac{pq - (p+q)}{n} \left(\sum_{k=1}^n a_k \right) \left(\sum_{k=1}^n b_k \right) \right]^2 \\ &\leq \left[\sum_{k=1}^n a_k^2 + \frac{p(p-2)}{n} \left(\sum_{k=1}^n a_k \right)^2 \right] \left[\sum_{k=1}^n b_k^2 + \frac{q(q-2)}{n} \left(\sum_{k=1}^n b_k \right)^2 \right]. \end{aligned} \quad (2.7)$$

The equality in (2.7) holds true if

$$p = q \quad \text{and} \quad b_k = r a_k,$$

where r is a constant.

Remark 1. As already mentioned in Section 1, we cannot anymore use the functional property (1.2) in order to further generalize the inequality (2.7). Moreover, Cauchy-Schwarz's inequality (2.1) can be deduced from the inequality (2.7) by letting

$$p = q = 2 \quad \text{or} \quad p = q = 0.$$

3. A GENERALIZATION OF CAUCHY-BUNIAKOWSKI'S INEQUALITY

The integral form of the Cauchy-Schwarz's inequality (2.1) is known in the literature as Cauchy-Buniakowski's inequality [2] and can be represented as follows:

$$\left(\int_a^b F(x)G(x) dx \right)^2 \leq \int_a^b [F(x)]^2 dx \int_a^b [G(x)]^2 dx, \quad (3.1)$$

where $F, G \in L^2[a, b]$.

Upon setting

$$\mathfrak{S}(\cdot) = \int_a^b (\cdot) dx$$

and

$$F(x) = f(x) - \frac{p}{b-a} \int_a^b f(x) dx \quad \text{and} \quad G(x) = g(x) - \frac{q}{b-a} \int_a^b g(x) dx, \quad (3.2)$$

straightforward calculation gives

$$\mathfrak{S}(F) = \int_a^b \left(f(x) - \frac{p}{b-a} \int_a^b f(x) dx \right) dx = (1-p) \int_a^b f(x) dx = (1-p)\mathfrak{S}(f),$$

$$\begin{aligned} \mathfrak{S}(F^2) &= \int_a^b [F(x)]^2 dx = \int_a^b \left[[f(x)]^2 + \frac{p^2}{(b-a)^2} \left(\int_a^b f(x) dx \right)^2 \right. \\ &\quad \left. - \frac{2p}{b-a} f(x) \int_a^b f(x) dx \right] dx \\ &= \int_a^b [f(x)]^2 dx + \frac{p(p-2)}{b-a} \left(\int_a^b f(x) dx \right)^2, \end{aligned}$$

$$\mathfrak{S}(G^2) = \int_a^b [G(x)]^2 dx = \int_a^b [g(x)]^2 dx + \frac{q(q-2)}{b-a} \left(\int_a^b g(x) dx \right)^2,$$

and

$$\begin{aligned} \mathfrak{S}(FG) &= \int_a^b F(x)G(x) dx \\ &= \int_a^b \left[\left(f(x) - \frac{p}{b-a} \int_a^b f(x) dx \right) \left(g(x) - \frac{q}{b-a} \int_a^b g(x) dx \right) \right] dx \\ &= \int_a^b f(x)g(x) dx + \frac{pq - (p+q)}{b-a} \left(\int_a^b f(x) dx \right) \left(\int_a^b g(x) dx \right). \end{aligned}$$

Substituting these equations into (3.1) produces a generalization of Cauchy-Buniakowski's inequality (3.1) as stated below.

Theorem 2. *If $f, g : [a, b] \rightarrow \mathbb{R}$ are functions whose squares are integrable on $[a, b]$ and $p, q \in \mathbb{R}$, then*

$$\begin{aligned} & \left[\int_a^b f(x)g(x) \, dx + \frac{pq - (p+q)}{b-a} \left(\int_a^b f(x) \, dx \right) \left(\int_a^b g(x) \, dx \right) \right]^2 \\ & \leq \left[\int_a^b [f(x)]^2 \, dx + \frac{p(p-2)}{b-a} \left(\int_a^b f(x) \, dx \right)^2 \right] \\ & \quad \cdot \left[\int_a^b [g(x)]^2 \, dx + \frac{q(q-2)}{b-a} \left(\int_a^b g(x) \, dx \right)^2 \right]. \end{aligned} \quad (3.3)$$

The equality in (3.3) holds true if

$$p = q \quad \text{and} \quad g(x) = \alpha f(x),$$

where α is a constant.

It is not difficult to see that, if we set

$$p = q = 2 \quad \text{or} \quad p = q = 0$$

in (3.3), then Cauchy-Buniakowski's inequality (3.1) follows fairly easily. Furthermore, a generalization of the inequalities (2.7) and (3.3) was presented in a recent paper by Masjed-Jamei *et al.* [10].

4. A GENERALIZATION OF ČEBYŠEV'S INTEGRAL INEQUALITY

The famous Čebyšev's inequality [11, p. 39, Theorem 9] can be expressed as follows:

If $F_k : [a, b] \rightarrow \mathbb{R}$ ($1 \leq k \leq m$) are nonnegative and integrable functions which are all either increasing or decreasing on $[a, b]$, then

$$\prod_{k=1}^m \int_a^b F_k(x) \, dx \leq (b-a)^{m-1} \int_a^b \prod_{k=1}^m F_k(x) \, dx. \quad (4.1)$$

Furthermore, if one of the functions $F_k(x)$ ($1 \leq k \leq m$) is increasing and the other ones are decreasing, then the inequality (4.1) is reversed.

Assuming that the functions $f_k(x)$ ($1 \leq k \leq m$) are all either increasing or decreasing and substituting

$$F_k(x) = f_k(x) + \frac{p_k}{b-a} \int_a^b f_k(x) \, dx \quad (p_k \in \mathbb{R}; 1 \leq k \leq m) \quad (4.2)$$

into (4.1), we get

$$\begin{aligned} & \prod_{k=1}^m \left((1 + p_k) \int_a^b f_k(x) \, dx \right) \\ & \leq (b-a)^{m-1} \int_a^b \prod_{k=1}^m \left(f_k(x) + \frac{p_k}{b-a} \int_a^b f_k(x) \, dx \right). \end{aligned} \quad (4.3)$$

The right-hand side of the inequality (4.3) should still be simplified. In order to do so, it is sufficient to just simplify the related functionals. For instance, if we take $m = 3$ in (4.3), then the integral on the right-hand side of the inequality (4.3) may be rearranged as follows:

$$\begin{aligned} \mathfrak{S}(F_1 F_2 F_3) &= \int_a^b \prod_{k=1}^3 \left(f_k(x) + \frac{p_k}{b-a} \int_a^b f_k(x) dx \right) dx = \int_a^b \prod_{k=1}^3 f_k(x) dx \\ &\quad + \frac{p_1 p_2 + p_1 p_3 + p_2 p_3 + p_1 p_2 p_3}{(b-a)^2} \prod_{k=1}^3 \int_a^b f_k(x) dx \\ &\quad + \frac{1}{b-a} \left(p_1 \int_a^b f_1(x) dx \int_a^b f_2(x) f_3(x) dx \right. \\ &\quad \left. + p_2 \int_a^b f_2(x) dx \int_a^b f_1(x) f_3(x) dx + p_3 \int_a^b f_3(x) dx \int_a^b f_1(x) f_2(x) dx \right). \end{aligned} \quad (4.4)$$

Substituting from (4.4) into (4.3) would finally lead us to the following corollary.

Corollary. *If $f, g, h : [a, b] \rightarrow \mathbb{R}$ are nonnegative and integrable functions which are all either increasing or decreasing on $[a, b]$ and $p, q, r \in \mathbb{R}$, then*

$$\begin{aligned} &(1 + p + q + r) \int_a^b f(x) dx \int_a^b g(x) dx \int_a^b h(x) dx \\ &\leq (b-a)^2 \int_a^b f(x) g(x) h(x) dx + (b-a) \left(p \int_a^b f(x) dx \int_a^b g(x) h(x) dx \right. \\ &\quad \left. + q \int_a^b g(x) dx \int_a^b f(x) h(x) dx + r \int_a^b h(x) dx \int_a^b f(x) g(x) dx \right). \end{aligned} \quad (4.5)$$

If one of the functions f, g and h is increasing and the others are decreasing, then the inequality (4.5) is reversed.

Remark 2. If we let $p = q = r = 0$ in (4.5), then the inequality (4.1) for $m = 3$ follows. Furthermore, in its special case when

$$q = 0 \quad \text{and} \quad r = -p = b - a,$$

the inequality (4.5) is reduced to the following form:

$$\begin{aligned} &\int_a^b f(x) dx \int_a^b g(x) dx \int_a^b h(x) dx \leq (b-a)^2 \left(\int_a^b f(x) g(x) h(x) dx \right. \\ &\quad \left. - \int_a^b f(x) dx \int_a^b g(x) h(x) dx + \int_a^b h(x) dx \int_a^b f(x) g(x) dx \right), \end{aligned} \quad (4.6)$$

which can *directly* be deduced by setting

$$F_1(x) = f(x) - \int_a^b f(x) dx, \quad F_2(x) = g(x),$$

and

$$F_3(x) = h(x) + \int_a^b h(x) dx$$

in (4.1) when $m = 3$. We should also note that the case $m = 2$ of (4.3) generates Čebyšev's inequality (4.1) for $m = 2$.

We find it to be worthwhile to point out that many discrete and important inequalities have been constructed in [16] by using Čebyšev's inequality (4.1) for $m = 2$ and its appropriately weighted forms.

5. A GENERALIZATION OF STEFFENSEN'S INTEGRAL INEQUALITY

The noted Steffensen's integral inequality [21] states that, if $F(x)$ and $G(x)$ are integrable functions such that $F(x)$ is a non-increasing function and if

$$0 \leq G(x) \leq 1 \quad (x \in (a, b)),$$

then

$$\int_{b-\sigma}^b F(x) dx \leq \int_a^b F(x)G(x) dx \leq \int_a^{a+\sigma} F(x) dx, \quad (5.1)$$

where

$$\sigma = \int_a^b G(x) dx.$$

By letting

$$F(x) = f(x) + p \int_a^b f(x) dx \quad \text{and} \quad G(x) = g(x) + \frac{q-1}{b-a} \int_a^b g(x) dx \quad (5.2)$$

for $p, q \in \mathbb{R}$ and computing directly, we obtain

$$\int_{b-\sigma}^b F(x) dx = \int_{b-\sigma}^b f(x) dx + p\sigma \int_a^b f(x) dx, \quad (5.3)$$

$$\int_a^{a+\sigma} F(x) dx = \int_a^{a+\sigma} f(x) dx + p\sigma \int_a^b f(x) dx, \quad (5.4)$$

$$\sigma = \int_a^b G(x) dx = \int_a^b \left(g(x) + \frac{q-1}{b-a} \int_a^b g(x) dx \right) dx = q \int_a^b g(x) dx, \quad (5.5)$$

and

$$\begin{aligned} \int_a^b F(x)G(x) dx &= \int_a^b \left[\left(f(x) + p \int_a^b f(x) dx \right) \right. \\ &\quad \left. \cdot \left(g(x) + \frac{q-1}{b-a} \int_a^b g(x) dx \right) \right] dx \\ &= \int_a^b f(x)g(x) dx + \left(\frac{q-1}{b-a} + pq \right) \int_a^b f(x) dx \int_a^b g(x) dx \end{aligned}$$

$$= \int_a^b f(x)g(x) dx + \left[\frac{\sigma}{b-a} \left(1 - \frac{1}{q} \right) + p\sigma \right] \int_a^b f(x) dx. \quad (5.6)$$

Upon substituting these results into (5.1), we are led eventually to the following generalization.

Theorem 3. *If $f(x)$ and $g(x)$ are integrable functions such that $f(x)$ is non-increasing and*

$$-\frac{\sigma}{b-a} \left(1 - \frac{1}{q} \right) \leq g(x) \leq 1 - \frac{\sigma}{b-a} \left(1 - \frac{1}{q} \right) \quad (5.7)$$

on (a, b) , where $q \neq 0$ and

$$\sigma = q \int_a^b g(x) dx, \quad (5.8)$$

then

$$\begin{aligned} \int_{b-\sigma}^b f(x) dx - \frac{\sigma}{b-a} \left(1 - \frac{1}{q} \right) \int_a^b f(x) dx &\leq \int_a^b f(x)g(x) dx \\ &\leq \int_a^{a+\sigma} f(x) dx - \frac{\sigma}{b-a} \left(1 - \frac{1}{q} \right) \int_a^b f(x) dx. \end{aligned} \quad (5.9)$$

It is clear that Steffensen's integral inequality (5.1) is a special case of the inequality (5.9) when $q = 1$. Moreover, one of the advantages of the latter is that the quantity σ is no longer dependent upon the value

$$\int_a^b g(x) dx$$

directly, since there exists a free parameter $q \neq 0$ in (5.8).

We note in passing that the constant p appearing in (5.2) has no influence on the inequality (5.9), since it is automatically omitted in the process of computations.

Another kind of generalizations of Steffensen's integral inequality (5.1) was presented recently in [23].

Remark 3. The Steffensen pairs are a concept related to Steffensen's discrete inequality and have been investigated in [6, 13, 14, 15, 17], and in several related references cited therein, by making use of properties of the function

$$\frac{b^x - a^x}{x}$$

established in [19, 20]. In the sequel, the logarithmically convex properties of the function

$$\frac{b^x - a^x}{x}$$

and some applications are elegantly discovered in [18, 24] and several pending manuscripts by (among others) Qi and his collaborators.

6. A GENERALIZATION OF ACZÉL'S INEQUALITY

Aczél [1] proved the following inequality in 1956:

$$\left(F_1^2 - \sum_{k=2}^n F_k^2\right) \left(G_1^2 - \sum_{k=2}^n G_k^2\right) \leq \left(F_1 G_1 - \sum_{k=2}^n F_k G_k\right)^2, \quad (6.1)$$

where $\{F_k\}_{k=1}^n$ and $\{G_k\}_{k=1}^n$ are positive sequences such that either

$$\left(F_1^2 - \sum_{k=2}^n F_k^2\right) > 0 \quad \text{or} \quad \left(G_1^2 - \sum_{k=2}^n G_k^2\right) > 0. \quad (6.2)$$

Some improvements of Aczél type inequalities have been carried out in some recent papers such as [4, 22].

By letting

$$F_1 = a_1, \quad F_k = a_k - \frac{p}{n} \sum_{k=2}^n a_k, \quad G_1 = b_1, \quad \text{and} \quad G_k = b_k - \frac{q}{n} \sum_{k=2}^n b_k, \quad (6.3)$$

and employing the equations (2.3) to (2.6), we get a generalization of Aczél's inequality (6.1) as follows.

Theorem 4. *If $\{a_k\}_{k=1}^n$ and $\{b_k\}_{k=1}^n$ are positive sequences such that*

$$a_1^2 - \sum_{k=2}^n a_k^2 - \frac{p(p-2)}{n} \left(\sum_{k=2}^n a_k\right)^2 > 0 \quad (6.4)$$

or

$$b_1^2 - \sum_{k=2}^n b_k^2 - \frac{q(q-2)}{n} \left(\sum_{k=2}^n b_k\right)^2 > 0 \quad (6.5)$$

for $p, q \in \mathbb{R}$, then

$$\begin{aligned} & \left[a_1^2 - \sum_{k=2}^n a_k^2 - \frac{p(p-2)}{n} \left(\sum_{k=2}^n a_k\right)^2 \right] \left[b_1^2 - \sum_{k=2}^n b_k^2 - \frac{q(q-2)}{n} \left(\sum_{k=2}^n b_k\right)^2 \right] \\ & \leq \left[a_1 b_1 - \sum_{k=2}^n a_k b_k - \frac{pq - (p+q)}{n} \left(\sum_{k=2}^n a_k\right) \left(\sum_{k=2}^n b_k\right) \right]^2. \quad (6.6) \end{aligned}$$

It is clear that Aczél's inequality (6.1) is a special case of the inequality (6.6) when

$$p = q = 2 \quad \text{or} \quad p = q = 0.$$

ACKNOWLEDGEMENTS

The second-named author was partially supported by the *China Scholarship Council*. The work of the third-named author was supported, in part, by the *Natural Sciences and Engineering Research Council of Canada* under Grant OGP0007353.

REFERENCES

- [1] J. Aczél, Some general methods in the theory of functional equations in one variable: New applications of functional equations, *Uspekhi Mat. Nauk* **11** (3) (69) (1956), 3–68 (in Russian).
- [2] V. Buniakowski, Sur quelques inégalités concernant les intégrales aux différences finies, *Mém. Acad. St. Pétersburg* (VII) **1** (9) (1859), 1–18.
- [3] A. L. Cauchy, *Cours d'Analyse de L'École Royale Polytechnique*. I: *Analyse Algébrique*, Gauthier-Villars, Paris, 1821.
- [4] Y. J. Cho, M. Matic, and J. Pečarić, Improvements of some inequalities of Aczél's type, *J. Math. Anal. Appl.* **259** (2001), 226–240.
- [5] S. S. Dragomir, A survey on Cauchy-Bunyakovsky-Schwarz type discrete inequalities, *J. Inequal. Pure Appl. Math.* **4** (3) (2003), Article 63, pp. 1–288; Available online at <http://jipam.vu.edu.au/article.php?sid=301>.
- [6] H. Gauchman, Steffensen pairs and associated inequalities, *J. Inequal. Appl.* **5** (2000), 53–61.
- [7] J.-C. Kuang, *Chángyòng Bùděng Shì (Applied Inequalities)*, Hunan Education Press, Changsha City, Hunan Province, People's Republic of China, 1989 (in Chinese).
- [8] J.-C. Kuang, *Chángyòng Bùděng Shì (Applied Inequalities)*, Second edition, Hunan Education Press, Changsha City, Hunan Province, People's Republic of China, 1993 (in Chinese).
- [9] J.-C. Kuang, *Chángyòng Bùděng Shì (Applied Inequalities)*, Third edition, Shandong Science and Technology Press, Ji'nan City, Shandong Province, People's Republic of China, 2004 (in Chinese).
- [10] M. Masjed-Jamei, S. S. Dragomir and H. M. Srivastava, Some generalizations of the Cauchy-Schwarz and the Cauchy-Bunyakovsky inequalities involving four free parameters and their applications, *Math. Comput. Modelling* (accepted for publication); *RGMIA Res. Rep. Coll.* **11** (3) (2008), Article 13, pp. 1–12; Available online at <http://www.staff.vu.edu.au/rgmia/v11n3.asp>.
- [11] D. S. Mitrinović, *Analytic Inequalities*, Die Grundlehren Mathematischen Wissenschaften, Band **165**, Springer-Verlag, New York and Berlin, 1970.
- [12] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and New Inequalities in Analysis*, Mathematics and Its Applications (East European Series), Vol. **61**, Kluwer Academic Publishers, Dordrecht, Boston and London, 1993.
- [13] F. Qi and J.-X. Cheng, New Steffensen pairs, *RGMIA Res. Rep. Coll.* **3** (3) (2000), Article 11, pp. 431–436; Available online at <http://www.staff.vu.edu.au/rgmia/v3n3.asp>.
- [14] F. Qi and J.-X. Cheng, Some new Steffensen pairs, *Anal. Math.* **29** (2003), 219–226.
- [15] F. Qi, J.-X. Cheng and G. Wang, New Steffensen pairs, in *Inequality Theory and Applications*, Volume **I**. Selected Papers from the Sixth International Conference on Nonlinear Functional Analysis and Applications (Chinju and Masan; September 1–5, 2000) (Y. J. Cho, J. K. Kim and S. S. Dragomir, Editors), pp. 273–279, Nova Science Publishers, Huntington, New York, 2001.
- [16] F. Qi, L.-H. Cui, and S.-L. Xu, Some inequalities constructed by Tchebysheff's integral inequality, *Math. Inequal. Appl.* **2** (1999), 517–528.

- [17] F. Qi and B.-N. Guo, On Steffensen pairs, *J. Math. Anal. Appl.* **271** (2002), 534–541; see also *RGMA Res. Rep. Coll.* **3** (3) (2000), Article 10, 425–430; Available online at <http://www.staff.vu.edu.au/rgmia/v3n3.asp>.
- [18] F. Qi and B.-N. Guo, The function $(b^x - a^x)/x$: Logarithmic convexity, *RGMA Res. Rep. Coll.* **11** (1) (2008), Article 5, pp. 1–8; Available online at <http://www.staff.vu.edu.au/rgmia/v11n1.asp>.
- [19] F. Qi and S.-L. Xu, Refinements and extensions of an inequality. II, *J. Math. Anal. Appl.* **211** (1997), 616–620.
- [20] F. Qi and S.-L. Xu, The function $(b^x - a^x)/x$: Inequalities and properties, *Proc. Amer. Math. Soc.* **126** (1998), 3355–3359.
- [21] J. F. Steffensen, On certain inequalities between mean values and their application to actuarial problems, *Skand. Aktuarietidskr.* **1** (1918), 82–97.
- [22] X.-H. Sun, Aczél-Chebyshev type inequality for positive linear functions, *J. Math. Anal. Appl.* **245** (2000), 393–403.
- [23] S.-H. Wu and H. M. Srivastava, Some improvements and generalizations of Steffensen's integral inequality, *Appl. Math. Comput.* **192** (2007), 422–428.
- [24] S.-Q. Zhang, B.-N. Guo and F. Qi, A concise proof for properties of three functions involving exponential function, *Appl. Math. E-Notes* **9** (2009) (in press).